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3.  To convert Pointmaster units (dimensionless) 
to millimeters, divide pm units by the magnification
of the objective lens being used to view the specimen

4. Convert millimeters (10-3 m) to µmeters (microns)
(10-6 m) and record your estimate of actual size.

1.  Orient your ocular with the eyepiece reticle
so specimen is aligned with appropriate markings

2. Estimate the width of the specimen
in Pointmaster (pm) units.   (e.g. 0.5 pm units)

5.  Finally, determine the magnification, or 
number of times larger you have represented the
organism in your drawing compared to the actual size.
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Anabaena
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Nostoc
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Note
Procedure at left is used with the eyepiece reticle installed in the ocular of our compound microscopes.  The example employs a hypothetical filamentous species that is 0.5 pointmaster units wide.


